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Discrete Mathematics Quiz 1
2025-4-21 by jayi0908
a) The answer is T.
Jz(P(x) » A) = Jz(-P(x) V A)
T o AE A, POl EsCrTBME 3 Ace, HE RN (3a-P(x)) V A,
M 3x—P(z) = ~VoP(z), ¥ Jz(P(z) > A) = -VaP(x)V A =VaP(z) — A.
b) The answer is T.

FEEE ze(A—(BNQ)) A A (z ¢ (BNC))

AN ((x g B)V(z¢0))

(e A)AN(x ¢ B)V(xeA)A(x¢C))
z€(A-B))V(re(A-0))
re(A-—B)U(A-C)
Mz BEEMNS (A—(BNC))=(A—B)U(A-0).

¢) The answer is T.
MER keZ, MR n=2k—1, W [2]+[2] =221+ |2 =k+k—-1=2k—1=n,
WRn=2k M2+ |2]=[21+|Z|=k+k=2k=n.

d) The answer is T.

r=1K, Wy=3 M (1<3)AP1,3)=T-
=20, Wy=4, M 2<4)AP2,4)=T.
r=30, Wy=4, M B<HANPB,4)=T
r=40, Wy=4, M (4<HOANPA4,4)=T

AT VaTy((z < y) A P(x,y)) FRAL

e) The answer is F.

B ne = Q(logn)®, H a, b NHEH.

f) The answer is F.
FIH BEFE/RX M4k (Cantor diagonalization argument), AR (0,1) H A Tt R+
Hh%oy 0 80 1 MEEHRIAE S S ATEL SUHEY ryrg, -
By TR 00040 - -+ WIIRATAT DI IE —ASBT AR e, HABEHIRIRON 00102 - - -

1 ifans =

ﬁ\:q:‘ bizlfau_ o 0
)H\UEZQ)\‘E r Z:’EE r1,To, - I:F" /fE[ rels, %Eo

g) The answer is T.

EER 2027 2L H 2025 < 2027, Frbl 2025 5 2027 H&,
M P /N E R, 202520271 = 1 (mod 2027).
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a) p@qg=(pA-q)V(pAq)=-(=(pA=g) AN=(—pAq)).
b) HSAEMIMER, plg=-(pAq), plp=—p;
i EBIRTEIEN (=(p A =) |(=(=p A ) = (0I(—))((—p)lg) = (pl(ala)((plp)]g)-

MEAEREIRT, HERBIZERA (pVaVr)A(-pV-qVr).

AL2) = (@a), £(1,2) = (a,b) H(L2)=(a) f2(1,2) = (b,b), FAEMHBH.
T H IR a =0 BB ARV, KX B2 H R %
FHEAAAELE (B a£b), W fo, f3 I CERW N ;

LG NVELE, W f1, fo, f3, fa2 YIOUHSS, B .

AL bR NI RIR R /98 RIONES, RIS EEANERE n BREHES S Sibr B
n PFEIKRRNTHE, S PRIABMANEEN 1,2,--- ,n—1 95 n ERIBHNG N on).
o(T7) = (7T x 11) = (T—1) x (11 — 1) = 60, KI5 77 55K IEBEEET HER™ K 335 3 1 7 51
{a,}, MFHLL 60 N—AFEHH, FHN 60 NEE, WA FHEEMm 77, B ayie0 = an + 77,
MM agoo = ago + 77 x (82 — 1) = 769.

A f5 KB ) FEUPT e 4 T IR B B AR 2 R AR A SR A8 H TR 17 A2 > v LR A 5 BRI N
AR S S BA S SR (

x =1 (mod 3)
FIFERTTREH: (2 =2 (mod 5)
x =3 (mod 8)

A mi=3,me=>5m3=8, m=mq X ms X ms=120,

Mlzmﬂ1:40, My =1 =24, M;= " =15,

mo ms
Myyr =1 (mod my), f#1F yv1 =190 =4,y3=17,
F 2 =1 x Myy, +2 x Myys + 3 x Mzys = 67 (mod 120).

i FH TG ERAE M A v R I A AR SRR N AN AE SR B W A A A 4
x € A1 U m?=2Ai = (x € Al) V (/\;;2(.%' S Al))
=N, (xe A Ve eA)
= /\;;2(1‘ c AU Al)
=T c m?:Q(Al U Az)

Ml o BEREMEA A U (AN ---NA,) = (A UA)N---N (AL UAL)s

. AL Fibonacei BRI (

WH 5 Fibonacci 2N fi=1,fo=2,f3=3,f1 =5,

FVAGNE: AgNEEEE (Basic Step): n=3 8 3= fi + fo » W7,

gL (Induction Step) % n WULRIRA fi, + fi, +--+ fir HF iy <ip < <ipr M n
DA KRN T AFM Fibonacci #2 ,



NFn+1, 1+ fi 4+ fi, +- -+ fios

Wk i > 1, WA fi,- fi, ¥5 AR, n+1=fi+fi, + fi, + + fi, BRARP
Fibonacci 212 1, Bl n+ 1 A/ #iKIR,

Wi =1, B fi, = =1, WEAREEH 1 IMEXNMFRE, FEBTEH.

FIH Fibonacci ZHPERT CRHLEP BT ASE TR —T00 , FATA EX A M TR 1,40, -+ 4,
HA S AT T, IXFEAH QPR I v LAEAIAZ e 5K 1) Fibonacei %4,

MM m R i; = j FERKTER, Wiy =100 =2, iy =m,imy1 = m+2,

Hiom BEL W i+ fo=fa st fa=Fr o St foo = fot < fng2 < fiy XA
ESTITSiH T%iETﬁﬁﬁﬁ@lﬁiﬁﬁé\ﬁ:z}ﬁ?ﬂiﬁtﬁz]ﬁ$ﬁ, HANZ: 800 21 J5 10 1) 550D

k
Wontl=14+(fitfo)+(fs+f)+ - +(fmortf)t D fiy = fitfstfstotfmat D fipr

j=m+1 j=m+1
NATER Fibonacci (2 1,
FRL, 5 m 258 W fot+fa=fo fa+tfs=1Ffer 0 fmo1+ fn = fntr < frnv2 < fimino
k k

Wntl=1+f+Ffatfa)++Fmat fo)+ D fiy=fotfatfot -+ fmat D fips

j=m+1 j=m+1
NAFEH] Fibonacci 2z #1,
AR SN, #ETLIES] n 4+ 1 AT#AFE R Fibonacci 2 f1E R,
WA, FUER IR n > 2 #AT A AE ) Fibonacci £z f1K IR, 3k,

FUE: FSRIEGNE, AgNZEEE O, AT IRGNEEE, REFTE /N T n BT 2 IEREEY AT Dk
ANEIH) Fibonacci $ 2 17w,

B f N/NT n BIsCKHT Fibonacci 20 (W £ >3, BRUNHAGNEER R n =3, MOXHE n >4, WH
En—f:

Fin—f=182, Mn=f+18n=Ff+2, AWNPMAFN Fibonacci B2, L.
in— >3, AR, n— f WTEAFRK Fibonacei BMZAER, N fi, fo, -, frs

HT f2/NT n 98 KH Fibonacci 8, % f1, fo, -, [ YIINT f, WNifin= fi+fot- -+ futf
WAANIF K Fibonacci (2 A1,

ANVE AR LA AT AAS 2] n AIEANFI Y Fibonaccei $02 MR IR, W H 558 V- 9032 AT = 10 1E 2 4L
n > 2 #AT LI ASE B Fibonaccei B2 M1z ~. BHIE.



